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Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 49

Choose the correct answer for each question. (20 Marks)



In 241 086, the digit 4 is in the ___ place.

A) hundreds

B) thousands 

C) ten thousands 

D) hundred thousands 

Question 2 of 49

Find the value of 20 - 4 x 5 ÷ 2 + 2

A) 12

B) 15

C) 20

D) 42
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Question 3 of 49

A) 3.13

B) 3.16

C) 3.103

D) 3.106

Question 4 of 49

68 x 15 = 15 x 30 + ___ x 15 + 2 x 15

A) 8

B) 21

C) 36

D) 38
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Question 5 of 49

A)

B)

C)

D)

Question 6 of 49

What is the missing value?



6 : 8 = ___ : 28

A) 12

B) 16

C) 21

D) 40
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Question 7 of 49

A) 10cm2

B) 18cm2

C) 20cm2

D) 30cm2

Question 8 of 49

Which fraction has the smallest value?

A)

B)

C)

D)
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Question 9 of 49

A) 25cm3

B) 250cm3

C) 2500cm3

D) 25 000cm3

Question 10 of 49

A) Mary

B) John

C) Alice 

D) Ben
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Question 11 of 49

Mrs Tan ordered notebooks for her class of 40 students. Each notebook cost $1.20. Every
student receive one notebook. How much did she pay for the notebooks?

A) $4.80

B) $12

C) $16.80

D) $48

Question 12 of 49

A)

B)

C)

D)
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Question 13 of 49

A) $50

B) $100

C) $250

D) $350

Question 14 of 49

Amanda and Bryan have 40 marbles. Bryan and Charlotte have 35 marbles. Amanda and
Charlotte have 45 marbles. How many marbles do they have altogether?

A) 35

B) 40

C) 60

D) 120

Question 15 of 49

Dennis and Elaine had an equal number of stamps. After Elaine sold 30 stamps and Dennis
sold 78 stamps, Elaine had 4 times as many stamps as Dennis left. How many stamps does
Dennis have at first

A) 90

B) 94

C) 104

D) 188

Question 16 of 49

Write 2 408 090 in words
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Question 17 of 49

1kg 5 g = ____ kg

Question 18 of 49

Question 19 of 49
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Question 20 of 49

Melody and Janice have a total mass of 3 kg. Melody's mass is 28kg. What is the ratio of
Melody's mass to Janice's mass? Express your answer in its simplest form.

Question 21 of 49

Question 22 of 49
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Question 23 of 49

Question 24 of 49

The ratio of Sonia's age to her mothers age is 1:4. In 6 years' time, the ratio of Sonia's age to
her mother's age will be 1:3. How old is Sonia's mother now?

Question 25 of 49

The ratio of the length to breadth of a rectangle is 5:2. The length is 15cm. Find. the area of
the rectangle.
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Question 26 of 49

Question 27 of 49

Question 28 of 49



2 ptsPrimary 5 Maths (Term 2)

2 ptsPrimary 5 Maths (Term 2)

2 ptsPrimary 5 Maths (Term 2)

2 ptsPrimary 5 Maths (Term 2)

Question 29 of 49

A small boat can either carry 6 adults or 14 children. There are already 3 adults and 2
children on board the boat. How many more children can the boat carry?

Question 30 of 49

A total of 76 children queued up for candy floss. There are at least 2 girls standing in
between any 2 boys. What is the largest possible number of boys in the queue?

Question 31 of 49

Question 32 of 49
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Question 33 of 49

Question 34 of 49

In a concert, the number of adults was 4 times the number of children and the number of
girls was thrice the number of boys. There were 60 more adults than boys. How many girls
were there at the concert?

Question 35 of 49

Mdm Ho bought 5 mangoes and 2 pears for $14.20. Mr Lee bought 2 mangoes and 3 pears
for $6.60. How much does 1 pear cost?

Question 36 of 49

The ratio of sweets that Janice has is 1:3. After buying another 24 more sweets, the ratio of
sweets to chocolates became 3:5. How many sweets and chocolates did she have in total at
first?



0 ptsPrimary 5 Maths (Term 2)

3 ptsPrimary 5 Maths (Term 2)

3 ptsPrimary 5 Maths (Term 2)

Question 37 of 49

Please type "done" to proceed to the next question

Question 38 of 49

Question 39 of 49

The length of a rectangle is thrice its breadth. After its length is shortened by 16cm and its
breadth is shortened by 2cm, it will form a square. What is the area of the square?
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Question 40 of 49

Question 41 of 49

Mrs Wong prepared 3.5L of orange juice to serve her guests. She poured exactly 400ML of
orange juice into each cup.

a) What is the maximum number of cups of orange juice she can serve her guests?

Question 42 of 49

b) How much orange juice is there left?
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Question 43 of 49

Question 44 of 49

Question 45 of 49
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Question 46 of 49

Question 47 of 49

The maximum marks for a test is 100. For every correct answer, 5 marks were awarded. For
every incorrect answer, 2 marks were deducted. Eric attempted all the questions and scored
72 marks.

a) How many questions did he answer correctly?

Question 48 of 49

b) He took the test again and got 2 additional questions correct. What is his new score?

Question 49 of 49


